Checking The Supplied Accessories

NO|pelimaion | cesionaton quaniiy Take off the cap
A M Screw (T6X55) | 5 \
B | @@l | &10mmAnchorbolt | 5 (
C J | L5Allen key 1
s G
Fixed Support Arm x 1 Wall Plate x 1 D| — | L3Allenkey | 1 \ Loosen the screws with L3 allen
E or Screw (M4X8) 4 o o = wrench, pull out the support arm
around 4” (100mm)
PJ MK-303 F| ©® | Screw(M6X15) | 4
-vv - s
¢ o crew (M4X10) | 4 Loosen the screw
Quick Start Guide H| & | MoComectingscrews | 4
* Screw G has been lockd ==
% on the mount. — A
The arrows up e=rza= g4/ c
- >55mm \’/
Wall Cover x 1 Wall Plate Cover x 1 Projector Mounting Plate x 1 210~1 .
B >
The cables can be got
To Set The Projector Wall Mount On The Wall through the wall plate
Important Safety
O ) §
1. Be sure this manual is completely understood before installation work. Concrete wall mounting  Use anchor bolt Screw (M6 x 55) are needed for The cables
* . . . .
2. Installation or dismounting of the projector from the projector wall mount must be carried out olny by * installation in concrete wall mounting
qualified service personnel (two or more).
A\ Use with products heavier than the maximum weights(Weight Capacity: <33Ib(15kg)) indicated may 4 *
result in instability causing possible injury. When installation on the wood
3. For safety reasons, check the strength of the wall before installation. If the wall is not strong enough, stud wall, Align the center of
reinforce it sufficiently before installation. the wall mount plate with the
4. Do not make alterations to the projector wall mount. center of the stud. Screw central p . .
5. Do not install the projector wall mount on a wall subject to vibration or impact. The arrows up === o }‘\ J c Sll_dm_g distance of =]
6. To avoid fire, do not install the projector with the projector wall mount in a humid or excessively dusty ‘ ‘ \,/ adWStlng the
place. * The bracket is suitable for concrete wall mounting or wooden stud wall. - i projector ;
7. Use the supplied accessories only. Use of accessories other than those supplied may result in damage to « Concrete wall mounting thickness must be a minimum 4” (100mm)_ Anchor bolt and | ;%V\éarg/é‘ownward'
N . I "
the projector wall mount. screw (M6 x 55) are needed to be used for concrete wall installation. F ‘ ! -36"(60mm)
8. When dismounting the projector from the projector wall mount, be sure to unplug the AC power cord and « Dry-wall wall thickness must be a minimum 4.5” (114mm). Only screw (M6 x 55) is ¢3mn‘ !
other connecting cables beforehand. ry X . § L Y " ! 0
R ) . . . needed to be used for installation, and gypsum board thickness less than 0.59
9. Do not hit or hang any heavy objects on the projector wall mount. If the projector wall mount is damaged, (1 5mm)
stop use and contact a qualified service person immediately. ) L : -
10. Please install this apparatus only on the horizontal surface instead of the slanting one. If the wall is not strong enough, reinforce it sufficiently before installation. Dry-wall mounting Not use anchor bolt Screw (M6 x 55) are needed for You can adjust the projector upward/ Tighten the screw “F” after locating
* Manufacturer is not liable for any damages or injury caused by mishandling or improper installation. * Please contact reseller if you have any questions about mounting surface issue. installation in dry-wall mounting downward according to your need. the projector position.

To Adjust The Projector Upwards/Downwards To Adjust The Horizontal Rotation Knob 6

To Install The Projector On The Projector Wall Mount

ViewSonic 48

&= @
‘). ‘ 9 » [http://www.viewsonic.com/support/]

FE Europe
. . . . http://www.viewsonic.com.cn http://www.viewsoniceurope.com
Adjustment Knob Screen Adjustment Direction HiE: 4008 988 188 http://www.viewsoniceurope.com/uk/support/call-desk/

Note: When the diameter of projector & Australia/New Zealand
hole is M6, then Screw H shall be used. To Place The Decorative Cover http://www.hk.viewsonic.com http://www.viewsonic.com.au
. . . . . EiE: 8523102 2900 Phone: 1800 880 818 (AUS)
Move the projector mounting plate leftwards/rightwards to determine the projector 0800 008 822 (NZ)
a Wall Plate cover

position. o]
. http://www.hk.viewsonic.com South Africa
Lgﬁwarqulghtward @J ij BiE: 853 2840 3687 http://ap.viewsonic.com/za/
sliding distance ﬁ
rd ‘ ‘ ‘ ‘ O as Latin America (Chile)
P : . i i i i Scyeen http://www.viewsonic.com.tw http://www.viewsonic.com/la/
= ~— A gqjustt'ment EiE: 0800 899 880 http://www.viewsonic.com/la/soporte/servicio-tecnico
A \ //,//, A< - B Irection
B e , - - . ()) { &= Latin America (Mexico)
L < T ] ! http://ap.viewsonic.com/kr/ http://www.viewsonic.com/la/
Phone: 080 333 2131 http://www.viewsonic.com/la/soporte/servicio-tecnico

\[71’/ : j A ‘ 3 <:> i ‘ B n ‘ V ) /
S a— <= = Note: When all adjustments are completed, the wall plate covers can be used to cover Singapore/Malaysia/Thailand Latin America (Peru)

Screen Adjustment Direction Adjustment Knob the blank area on the top of wall plate. Finally, put the wall cover on. http://www.viewsonic.com.sg http://www.viewsonic.com/la/

. . . Phone: 65 6461 6044 http://www.viewsonic.com/la/soporte/servicio-tecnico
To Adjust The Horizontal Roll Knob Product Information
India Latin America (Argentina)

To Adjust The Projector Forwards/Backwards

http://www.in.viewsonic.com http://www.viewsonic.com/la/
A €= - s Phone: 1800-419-0959 http://www.viewsonic.com/la/soporte/servicio-tecnico
! E | @ Model PJ-WMK-303
! ! . United States Puerto Rico & Virgin Islands
[CSAN Screen NET Weight 9.5Ib(4.3kg) http://www.viewsonic.com http://www.viewsonic.com
@ Adjustment Load Capacity 33Ib (15kg) Phone: 1-800-688-6688 Phone: 1-800-688-6688 (English)
http://www.viewsonic.com/la/soporte/servicio-tecnico

()) Adjustable Range 10.71"-17.40"(272mm-442mm) Canada
=

- B <~ = Direction
- . - - : . : . .

277 Adjustable Angle | + 5° tilt, left\right, front\rear and lateral rotation adjustment gﬁ%@%éﬁﬁg?ﬁgm
Check the scaleplate

to see the distance from ) ) o PJ-WMK-303_QSG_Rev. 1a 04-07-17
wall to the mounting plate Adjustment Knob Screen Adjustment Direction Copyright © 2017 ViewSonic Corporation. All rights reserved.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


